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(30%) 1. Explain the following terms
6%) (1). Web2.0
(6%) (2). Cloud computing
(6%) (3). Overloading
(6%) (4). OOP
(6%) (5). Divide and Conquer

(20%) 2. Identify and correct the invalid Java statements, if any.
(5%) (1). apes = monkeys + gorillas
(5%) (2). tigers=3
(5%) (3). Lions + tigers = cats;
(5%) (4). zebras +=5;

(25%) 3. What will the following code print?

int count = 1;

while (count <= 3)

{
System.out.print(count + " *);
count++;

(25%) 4. What is the big-O running time of the following subroutine, as a function of
n?

int mystery4(int n) {
int x = 0;
for (int i = 0; 1< nx*xn*xn ; ++1i)
for (int j = i; j < n; ++3)
++X;
return x;

}




